120.What is the ultimate purpose of
Defragmentation?

(A)Make the PC faster

{B}Create More Free Space
(C}Delete temporary files
{DjReduce Power consumption
(EjAll of the above

121. All of the following are
examples of real security and privacy
risks EXCEPT:

A. hackers.

B. spam.

C. viruses.

D. identity theft.

122, A process known as
is used by large
retailers to study trends.
A. data mining
B. data selection
C.FOS
D. data conversion

123. terminals
{formery known as cash registers)
are often connected 1o complex
inventory and sales computer
systems,

A. Data

B. Poinl-of-zale (POS)

C. Sales

D. Query

124. An system is a
small, wireless handheld computer
that scans an item's tag and pulls up
the current price {and any special
offers) as you shop.

A PSS

B. POS

C. inventory

D. data mining

125, The ability to recover and read
deleted or damaged files from a
criminal s computer is an example of
a law enforcement specialty called:
A robotics.

B. simulation.

C. computer forensics.

D). animation.

PYIH Wil B HhE NS A NI
one of the four major data processing
functions of a computer?

A. gathering data

B. processing data into information
C. analyzing the data or information
D. storing the data or information

127. tags, when
placed on an animal, can be used to
record and track in a database all of
the animal’s movements.

A POS

B. RFID

C. PPS

D. GPS

128. Surgeons can perform delicate
operations by manipulating devices
through computers instead of
mzanually. This technology is known
as:

A, robotics.

B. computer forensics.

C. simulation.

D. forecasting.

129. Technology no longer protected
by copyright. available to everyone,
is considered to be:

A, proprietary.

B. open.

C. experimental,

D. in the public domain.

130. is the study of
molecules and structures whose size
ranges from 1 to 100 nanometers.
A. Nanoscience

B. Microelectrodes

C. Computer forensics
D. Anificial intelligence

131. is the science
that attempts to produce machines
that display the same type of
intelligence that humans do.

A, Nanoscience

B. Nanotechnology

C. Simulation

D. Anificial intelligence (Al)

7
132, is data that has
been organized or presented in a
meaningful fashion.

A. A process

B. Software

C. Storage

D Information

133. The name for the way that
computers manipulate data into
information is called:

A, programming.

B. processing.

C. storing.

. organizing.

134, Computers gather data, which

means that they allow users to
data.

A. present

B. input

C. output

D, store

135. After a picture has been taken
with a digital camera and processed
appropriately, the actual print of the
picture is considered:

A. data.

B. output.

C. inpuL

D. the process.

136. Computers use the
language to process
data.
A. processing
B. kilobyte
C. binary
D representational

137. Computers process data into
information by working exclusively
with:

A, multimedia.

B. words.

C. characters.

D numbers.

138. In the binary language each
letter of the alphabet, each number
and each special character is made up
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of a unique combination of?:
A, eight bytes.

B. eight kilobytes.

C. eight characters.

D. eight bits.

139. The term bit is short for:
A. megabyte.

B. binary language.

C. binary digit.

D. binary number.

140. A string of eight Os and 15 is
called a:

A. megabyte.

B. byte.

C. kilobyte,

D. gigabyte.

141. A is
approximately one billion bytes.
A kilobyte

B. bit

C. gigabyte

D. megabyte

142. A is
approximately a million bytes.
A. gigabyte

B. kilobyte

C. megabyte

www.recrutt ment.guru
D. terabyte

143, is any part of the
computer that you can physically
touch.

A. Hardware

B. A device

C. A peripheral

D. An application

144. The components that process
data are located in the:

A. input devices.

B. output devices.

C. system unit.

D. storage component.

145. All of the following are
examples of input devices EXCEPT
:1:

A. scanner.

B. mouse.

C. keyboard.
D. printer.

146. Which of the following is an
example of an input device?
A. scanner

B. speaker
C.CD

D. printer

147. All of the following are
examples of storage devices
EXCEFT:

A hard disk drives.

B. printers.

C. floppy disk drives.

D. CD drives.

Answer: B

148. The . also called
the brain of the computer, is
responsible for processing data.

A. motherboard

B. memory

C.RAM

D central processing unit (CPU)

149. The CPU and memory are
located on the:

A. expansion board.

B. motherboard.

C. storage device.
D. cutput device.

150. Word processing. spreadsheet,
and photo-editing are examples of:
A. application software.

B. system software.

C. operating system software.

D platform software.
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TEST-IV :
ENGLISH LANGUAGE

Directions (151-165) : Read the
following passage very carefully and
answar the questons given below ap-
propriately. There are certain words in
the passage phnted in bald leltars o
lead you to find them out easily in or-

dar ta halp you in answedng some of-

the questions,

| worked as health secrefary for
aboat lives years from the middle of 1662
1o the middle of 1967, Thersafter |
workad as linance secratary until the
and of 1560, Indiscipline was ramgpant
in tha health departmeant. Intense kob-
bying to Secure plum postings was the
order of the day.Ministers, legislators,
senior officers and other influantial
people openly pleaded the cause of
their proteges. The Health Mindster was
an honest, well-meaning palitician. He
approved my proposals to bring about
some syslem and objectivity in postings
arvd transfers and put an end to lobby-
ing. But those efforts met with anly lim-
iled success. Doctors succeeded in
getting desired postings by resorfing
to Bribery. On the ove of the alections,
the then minister sent down aver 100

. -transfer orders from his camp office.

Thay were in conflict with the guide-
lines and quite a few were confuging in
as much as two doclors were posted to
the same place, or ona person was
posted to mare than one post. | did not
carry oul the orders. | submitted a nota
to Chief Minister through the Chiel Sac-
retary pointing out why tho orders
shoukd not be implemented. The Chief
Secretary supported me. The Chief
Minister decided that the minister's or-
ders shoukd not be implementad. All the
doctors who had paid money were dis-
appointed. In several other departments:
also corruption became widespread. In
tha works depariments comuption had
existed since a bong lime in the matter
of awarding contracts. Now bribes ware
frealy offered to sacure transfer to par-
ficudar posts; and even for getting pro-
miotlons.

As Finance Secretary | found that
Iha finances of the stale were in a pre-
carious condition. Financial digcipline
had evaparated. Long balore the ad-
vant of the wiraless and tha telephona,

the-British had included in the Treasury
Codo a rulke (Ruls 27) empowating col-
lectors 10 draw money from the trea-
sury to meat emergencies like foods,
earthquakes, devastating fires, otc. To
my diemay | found that collectors wenn
Irgaly drawing money Tor gll manner of
trivial purposes under Rule 27 of the
Treasury Code. In one case a collector
had drawn maney undar the ruls lo buy
a stall car for the SO0 of anolher dis-
Iricd, All checks and balances had dis-
appeared, There was no accountabil-
ity and any one could do what he
pleased. Regorting to a number of
harsh measures | could restone a mea-
sure of financial discipline. But the ad-
ministration conlinued to be in disar-
ray.

151. How, many years did the au-
thor work as heatth secretary 7

{1} He worked as heslth secretany
until the end of 1969 !

(2} He worked as health secratary
befora he took over as finance secre-
tary

(3) He worked as heallh secrelary
till the health minister was found 1o be
a man of integrity

(4} He worked as health secrelary
for about live years

(5} He did not work as health sec-
retary at all

182, Acconding o the aulhor what
was the ordar of the day 7

{1) Strict discipfine

(2) Cut throat compatition

(3) Racial distrimination

{4} Intense lobbying

(5) None of thase

153. How did the doclors succeed
in galting desired postings ¥

(1) Through dedicated sendce

{2} By working in the health
minigter's constiluency

_ {3) By joining hands with the un-
derwarld criminals

{4) By resorting to sycophancy

(5) By resorting ko bribery

154, When the health minkster sent
down 100 transfer orders from his camp
offica, how did the author react?

{8)He immediately chayed the
ministar

(B} He did nol carry out the orders

{C)He submitted a note to Chief
Minister through the Chisf Secretary

(1) Only (A)

(2) Only (B)

(3) Only (A} & (B),

(4) Qnly (8) & (C)

(5) Only (A) & (C)

158. What happenad whan the
Chiel Minister decided that the
minister's orders should not be imple-
mented ?

{1) The author was very happy

{2) The author arrangad a lea party
fo celabrate his victory

{3) The doctors resigned and lefl
the hospitals:

{4) The heallh minister submeéted
his resignation

(5] All the doclors who had pasd
mioney wene disappointed

Directions (156-165) : Choose tho
word which i MOET OPPOSITE in
meaning of the word given in bold as
used in the passage.

156. intense

(1) Active  (2) Vigarous
(3) Feabia {4} interior

(5} Devise

157. Success

(1) Defeat (2} Succeed
{3} Abrupt (4} Failure

(5} Difficult

158. Confilet

{1} Conformity

(2) Disagreement

{3} Attest {4) Combat
(5) Manifest

159, Supported

{1) Advocated  (2) Betrayed
(3) Opposed  (4) Abandoned
(8) Proposed

160. Promaotion

{1) Premonition (2) Facditate
{3) Demotion  (4) Obsiruction
{5) Encourage

161, Precarious

{1) Menacing  {2) Thraatening
(3) Securad (4] Firmly

{5) Unsaafa

162, Discipline

{1} Ordarly {2) Restrain

{3} Indigcipline  {4) Terbulence
{5) Confusion

163. Devastating

{1y Ravaging (2} Wrecking
{3) Refreshing {4) Restoring
{5} Replenishing
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164, Trivial

{1} Perilous (2) Frivolous
(3) Impartant (4] Weighty
(5} Momentous

1E5. Harsh

(1) Peculiar . (2) Blunt

(3) Mild {4) Malodious
{5) Coarss

Directions (166-175) : In the foi-
lowing passage, there are blanks, each
of which has bean numbered. Those

- numbers are printed below the pas-

sage and against cach, five words are
suggeated, one of which fits the blank
appropriately. Find out the appropriale
word in each case.
" . Wilh the {166} ol Indian economy
{167 varlous reforms Inftiated, bank-
ing sector (168), a pivotal role in the
process of achleving (169) economic
growth and also In (170) the social wel
baing af Large. The Public aeﬂut (171)
in India have the twin tasks ahead of
mealing the social banking (172) and
at the same time generating (173) prof-
its to meel the cosls assocaled wilh
growth, At present, banks have morg
than 76.1 per cent of their total bramch
{174} in rural and seml-urban (175).
168. (1) nationalization
(2} exparnsion
(3} liberalization
(4} computenzalion
(&) accommodation
16T {1} from {2) over
(3) between - {4) through
(5) thorough
168. (1) manages
{3) facillates
{5) conquers
168, (1) fewer
(3) higher
{5) lesser
170. (1} increasing  {2) enhancing
{3) encouraging
{4) improvineg {5) innovating
17, (1) organizations
(2} companies
(3} corporations
(4) banks
(5} institutions
172. (1) Emitations
(2} ohligations
13) derivatives (4) lacilities
(8} labilities
173, (1) beautifl (2] lumpsum
(3) adequate (4] mmam

{2} ocoupies
{4) naluralire

(2) fantastic
(4) lower

'l'l"IF‘L'l".I’i’t"]"utnﬂi‘i!I.HIH'H

174, (1) map {2) scenario
(3) network  (4)-system
(5) graph

178. (1) households {2) residences
(3} araas (4) locals
(5} suburhs

Directions (176-185): ineach gues-
tian bedow, four words which are num-
bered (1).{2). (3} and {4) have been
printed of which one may be wrongly
speit. Tha number of that word % an-
swer, If all the four words are comectly
gpalt, mark (5) i.e. "All comect’ as the
BNEWET.

176. (1) Profeshon
{3) Riet
{5) Adl comect
(1) Shaddy
{3) Parade
(5) Afl camrect
{1} Machstick
{3) Birth
(5) Al cormect
{1} Suspesct
(3) Religious
(5) All cormect
{1) Confident
{3} Road
(5) All comect
{1} Village
{3) Parcbe
(5) Al comect
(1) Partiticn
(2} Independence
() Fofeigner (4) Tricolour
{5) All comect F
(1) Appointmeni  (2) Broad
{3) Commisioner (4) Arrival
{5) All Correct
{1) Welcom
{3} Introduce
{5} Adl cormact
(1} Incamation (2} Adoration
(3) Administation
{4} Authorization
(5) All comact

Directlons {186-190) : Pick out the
most effective word from the given
words to make the sentence meaning-

(2} Justice

{4) Assembly
177 {2) Affair
{4) Beard
178. (2} Death
(4} Spark

(2} Rope
(4) Ecsplode

179,

180, {2) Strach

{4) Hire:

181. {2) Pattrol

{4) Enough
182,

183,

184, (2) Urgent

{4) Smile

185.

fulty complete,
188, | will _ tham far
saving me from the aganias of oid age.
(1) fire (2} baat
{3) thank {4} admaonish
{5) shout

1B7. | have naot dane things which
anyong slza may feal ara

(1) useless (2) worth
(3) good {4} higtonc
(5) bad
188, | was handed
to Bhai Hari Singh,
(1) back (2] ovar
13) through {4) upon
{5) again
189. We were ___ with
the names of notorious criminals.
(1) constantly {2} convanient
{3) tamdliar {4} obvious
{5} lgnorant

190. | do nat ki what
my father choose that particular school.

(1) happened (2} controllad

{3) made (4) asked

{5} thrillad

Directions (191-200) : Fead each
sentance 1o find out whethar thera is
any grammaticalidiomatic/spelling
mistakafarmor in it. The error, it any, will
ba in one part ol the sentence. Mark
the number of that part wilh orror as
your answer, f there Iz no errer, mark (5).

181. | have citicize (1) the remark-
abla book (2)f because | benalited (3
from reading it. (4) Mo orror (5)

182, As Arundhati oy (1) in her fore-
word write [2) John offers {3puntold
stones of peopla. (4) No arfor (5)

183, Citlzens needed (1) to know
that (2)/ our leader cannot (3)/ be
trusted. (4) Mo error (5)

194. Hesponsibiliies includes (1)f
wiorking with The editors (2)/ on all ag-
pects (3) of the editorial process. (4)
Mo arror (5)

195. Wa build a simple model (11 to
test whether (2)/ there is 'a phase
change (3 in the Indian economy. (4)
Mo arror (5)

196, Our resufls (1) indicate that (2)
1881 marked (3 the end of an era. (4}
Mo error (5)

187. While grouping the worda (1)
cara have been taken (2) o nclede
the rode (3W grammar playa in & lan-
guage. (4} Mo emor (5)

198. Batweean the yaars (1) 1952 ta
1962 (2)/ | worked in the field (3 as
sub-divisional officer. (4) No error (5)

199. The Chief Minister {1}/ was
obliged (2} to hanour the promisa (3
made during the conlest. (4) Mo ermor
(5

200. Distrust seems (1) 1o be a fac-

- { tor (2} bome out of (3)/ prevailing cir-
(5) evertasting recording. cumstances. {4) Mo error (5)
are providing piece of information Hdust £ raefersnce It ma
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150. (3)

ANSWERS 157, (4) | 158. (1) 160. (3}
2 181, (2) | 182 (2) | 163 (3) | 164, (5)
L] 2| 2@ &M 165, (3) | 166.(3) | 167. (4) | 168. (2)
(] &{n| 7.4 &4 168, (3) | 170 (4) | 170 (4} | 1772 (2)
8.2 mwis)| 1040 | 12(2) T3 (3) | 174.(3) | 175.(3) | 178 (1)
13,01 45| 15 @] 16(1) 177, (5) | 178 (1) | 17.(4) | 180 (2)
12| 1wy 1eis| 205 181, (2) | 182.(5) | 183.(3) | 184. (1)
(4| Z=2 ()| 2 (3| M2 185. (3) | 186. (3] | 187.(2) | 184. (2)
w2 22| 2704 | 28(3) 188, (3) | 190.(3) | 191.(1) | 192.(2)
M5 | W) MW} x®@(H 193, (1) | 194. (1) | 195.(5) | 196. (5)
(1)) M.i2)| 38 (4) | 361 197.(2) | 188, (5] | 188.(5) | 200.(3)
37.(4)| 38.(5) | 34.(F) | 40.(4)
4| &z | 44| M3 % EXPLANATIONS E
a5 (1) #6.(2) | 47.(5)| 4A(5) 1R O A4 M 1 N
40, (3)| S0.(4) | §1.(2)| B2(1) "
B3 (3] 54.(5)| 55.04) | s&(®) [ NG oD
57.15}) 58 (1) | 58.(3) | &0.(4) Similarky,
B (3] B2 (4) | B (1) | &) P L T E AU
65.(3)| 66 (5)| 67.(2)| 68 {4) *l
(1) s | ny| 2@ "M PF U UCPE
Ta(4)| Ta2)| TS.(5)| ™(2) 2.(5) Excepl dog, all other animals
AN ERECIEE "“':E‘”‘"‘ L
o.0)] 20| 06| e ||posr J i
B5.(4)| 86 (1) | &7.(3)| 8&(4) 4,(1) The child of mother is ra-
ferred 1o as offapring. Similarly, the na-
89.(5)| 90.(2)| @.04)| *(1) i S o e b coflect snpino.
83 (2) | 8443} | 85 (5) | 96 (4) B(l) S P Al N G
S7.(1)| 9a(2)| 99.(5) | 100.(3) £ 4 b bododk
# 2 % @ 4 =
And,
G O N E
I 4 4 4
=7 4 ©
Tharefons,
51 G N
1 4 & 1
# @ =
6.1} June is a name of monih.
T.4) Wa can ses dales in cilen-
dar, Shmilarly, we can sea lime in ciock,
8.(4) Raju is the only son ol
Ayesha's maternel uncle’s wile.
Therelore, Raju is the cusion
L e hm::kﬂnf:mhmym
t + BEX L
153, (5) | 154. (4) | 155.5) | 156.(3)

E 10 miles
<
h\
., 5 mibes
"
'\‘l L
5 miles
K
MW NE
w E
5“r SE
5

It is clear from the diagram that
point P s In Morih -West direction.
10.(5) 23 is a Prime Mumber, All
other numbers are multiples of 3.
21=3x7:51=3x17
B3m3x21:16=23x5
11.{4) The colour of milk is white.
But here white s callsd yeliow.
12(2)
A 16 14 20 18 18 12
CONTROL
|

13(1)W=T=Mand V is the thin-
nest,
Thus, WaT>M=V
K or W ia not the falbes!, Thenelons,
O s the fattost.

K or W isnof the fattest. Therelor, O

Similarky,

KDERFUL =Y

15.(2) Teachers train sludents.
Similarly, coach trgins players.
16.(1)

I Symhal | Number | Vel |
Thera is no such combination.
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- z ) a
aa iy s T g g
b 3 +d L]

E =3 feep R —3 | 4
+3 +3 w3 - 43
v S aumawin

18.{1}

Fiy:rll‘.ml kbnﬂnnﬂ.ll[] MNumber ]

There Is only one such combina-

tion ;

19,3} Sixth lo tho left of 181h fram
left maans 18 = 6 = 12th from lef.

But the ordar of the first twenty ela-
menis has bean reversed, Therefora,

181 element from left has become
20th fram loft and vica-versa,

2nd element from left has become
19k from left and vico-vorsa.

3rd elemant from left has become
181k from beft and vice-versa.

And 50 on.

Them'l'um.ﬂmalmmrl Immli'talaﬂ
would bacome the 12th from laft,

K3AAVTR=F BEME...

Sth from lef

20.5) c2ap2dpp
g 2y ytly
7-23n23y 5
120ty g
But,
ALy g sy y _
21.(4) First and second Premises
are Particular Allirmative (l-bype).
Third Premise is Universal Affirma-
tive (A — typa).
Adl traing are horses,

"

Some horses are bells,

Wa know that,

A + | = No Conclusion

22.01) First and socond Premises
are Universal Afirmathee (A - type).

Third Premise is Particular Affirma-
tive (1 — type).

All roses are goats.

‘(/7’

All goats are kites,

We know thal,

A+ A= A - type Conclusion

Thus, our derived Conclusion
would be: “All roses are kites®

Conclusion | is the Converse of this
Conclusion.

23.{3) Firal and third Premises are
Universal Affirmative (A-type).

Second Premise is Particular Af-
firmative (I-typa).

Some birds are clagges,

>

All classos ane lons,

W know that,

1+ A = | = type Conclusion

Thusg, our derived Conclusion
wiould ez

“Some birds are lions”.

Conclusions | and Il from Coampla-
mantary Pair. Therefone, either Conclu-
sion | or Il follows.

24.(2) First and third Premisas are
Particular Affirmative (I-type).

Second Premisa is Universal Af-
firmative (A-type).
. Some candlas are papers.

o

All papers are trees. !

We know thai,
I+ A = | —type Conclusion
Thus, our derived Cﬂru:lualun
would be:
“Soma candles are trees”.
Some books ane papars.

vl

All papers are frees,

We know that,

|+ A =2 | — type Conclusion

Thug, aur derived Conclusion
would be:

“All roses are kites™.

Conclusion |l is the Converse of
this darived Conclusion.

25.(2) First and third Premises are
Univarsal

Affirmative (A-typa),

Second Premize is Parlcular Af-
firmative (I-type).

Some baloons ars crows.

/

-

All crows are bals,

We know that,
| + A= | — type Conclusion
Thus, our derived Conclusion
would be:
“Soma baloons are bats”,
All erows are bals.

e

All bats are olephants.

We know that,

A+ A = A —type Conclusion

Thus, our derivad Conclusion
wioukd be:

“All crows are elephanis.”’ ,

Conclusion 1l is the Converse of
this derived Conclusion.

26(2)3 1 4 9 2 &
IS e et O P |
MPBTND

TR ATHI M
d 44 bodod
o5 8 87 3

28314 5 2 1 7 3 6
o e e Rl

- # AMNPIME¥

2045) 2 4 8 0 5 T
o R My o e
$ BHRAS

3041)¢ A MPT ¢
o N S ARG R T -
Even&s 3 1 8 Ewven
digit digit

(31-35} : On the basis of given in-
formation and conclusions drawn we
can oonstruct the lollowing table :

Friends | Boy or Builgng | Frut |
Girl
[ Gid Z Appbe
M Bay Z Jackini
K Girl X Mango
L2 GH Y Grape
R Hay 7 Fine-
apple
W | Boy f Dirange
B Boy x Waier-
rakon

31.(3) K lkes mango.

32.(5) L, M & R stay in bulldlng Z

33.(1) R likes apple.

34.(2) K, P and R are girl,

35.(4) B ikes walermelon, |

36.(1) In pach subsequent ligure
one deslgn iz added In the corner in
anticlockwise direction and after every
two figures thie designs of comers ane
inverted. In the suhsequent figures re-
spactively one and two design(s) isfare
imeeried in the middie.
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37.(4) From first figure to second
figure the emall designs move one step
in anticlockwise direction and they are
enclosed by such designs if the smaller
deslgng move in clockwise direction.
Similar changes would occur from
' Problem Figure {5) to Answer Figure.

38.(5) Problem Figure (5) is the
water image of the Problem Figure (1).
Tharefore, Answer Figure would be the
waler image of the Problem Figure (2).

39.(3) Tho top design descends
stepwize after being rotated through
80° anticlockwize and inverted later-
ally and ascends in one step. Afler ov-
ery two ligures ihe arrow moves one
step in anticlockwise direction and in
each stap it is rolated through 180° and
then inverted laterally. Mow we can
ediminate Answer Figuras (1), (2] and
{4). The third design moves to kel or
right after every two figures and it
changes in a get order.

40.{4) The outer design of Prob--

larm Figure (1) becomes the inner de-
sigrin Problem Figure (4) and the ouler
design of Problern Figure (2) becomes
the inner design in Problem Figure {5).

Therefare, the other design of Prob-
kem Figure (3) would become the innor
design in Answer Figure. Thercfore, we
‘can eliminate the Answer Figures (2)
and (3). The samo patlemn s followed
in the casa ol auter dasign but it gels
inverted. P

41.(4) In the subsequent figures
respectively two and three line seg-
ments change their positions In a sat
ondar. :

42.(2) In the subsequent figures
the plane of designs rotate through 45
anticlokwise direction and the designs
intarchanga positions in 8 set order, The
first design becomes the thind design,
the second design becomes the fourth
design, the third design becomes the
second design and fourh design be-
comes the first design and i s replaced
by a new design. In the second step
tha fourth design in replaced with a now
design

the arrow head moves two sleps in
anliclockwise direction.

44.(3) In each subsequent figure
one line segment ks added and design
regrientéd in 8 set order,

43:{13 In the subsequent figures

45.(1) In each subsequent figure
all the designs move in anliclockwise
direction and the first design moves to
the ceniral positions and it is replaced
by a new design and the central de-
sign moves 1o the middle position (sec-
ond position] and the last design moves
to the: first position.

46.(2) From Problem Figure (1) to
(2) ona curve and an arrow head are
imverted. From Problem Figure (2) to (3)
both the curves and an amrow haad are
inverted. From Probiem Figure (3) to (4)
both the armow heads are invarted, From
Problem Figure (4) te (5) both the
curves and an amow head are Invenad.
Theretore, fram Problem Figure (5) to
Answer Figure one curve and an ar-
row head would be invared.

47.(5) In the subsequent figures
the plane of designs rotates through
45" anfickockwise. From Problem Fig-
ura (1} 1o {2) the first two designs intar-
change positions, the third design
moves to the fourth position and the
fifth design mowvas to the third position,
The fourth design moves to the fifth
position and it is replaced with a new
dasign. From Problem Figure (2) 1o (3)
the first design moves to the second
position and the third design moves to
the first position. The socond dasign
moves 1o the third posilion and it iz re-
placed with a new design. The fourth
and the fifth designs interchange posi-
lions. Thesa lwa steps are repeated al-
ternataly. ;

48.(5) From Problem Figure (1) o
{2} both the designs move one stop in
antlclockwise diraction and the first de-
sign is replaced with & new design.
From Problern Figure (2) 1o (3) both the
designs mova cne slap in anliclockwise:
direction and interchange positions
and ono of the designs is repiaced wilth
a new design. Thesa wo steps are ne-
peated alternataly.

49.(3) Alternately the designs
move one step in dodkwise direction
and in sach subsequant figure one
new design appears in front of the pre-
axisling designs. Allarnatety, the first
design moves to the kast and it is re-
placed with a naw design.

50.(4) In the subsequent figures
respactivaly three and two line Seg-

meanis are added in a set order.

51.(2) 3785 + 7 - 4297 = 5523
= 7 = 5523 + 4297 - 3785

= 9820 - 3785 = 6035
52{1)?=11.02x8+15%x086
=88.16 + 0.9

= 80.06

a4 .7
53.{3}?=E1:r| ?QquI13W
3 4 7
-.EH?K—QXISEU
= 368
54.(5)

7 = 75% of 580 + 58% of 750
?53#580+58k?50

1060 100
= 435 + 435 = BTO
55.(4) 36 x 45 + 7 = 1700
= 1620+ J7 =1700
- 7 = 1700 - 1620

=2 JF =80
= 7 = (BOJ® = 6400
S6.(2) 7 =128+ 16

=144 + 16 = 180
3 1 2
aQ= 4= a%
57.(5) 7 5+ B 35

3 1 2
24=+4+=-3-=
R 5 5

[E+L_E"|
s(2+4=3)+ 55 B

3+1-2 2 2
-,']-+[ 5 ) ﬂ+§ =3i

SB.1) 107 = 1075 x 109 & 102

4.5

=1073x L 5

10
= 1075 x (10452
= 1078 1028
=“m?5+2_5
= 107=10""= 7= 10
59.(3) 7 = 367 - 24°
= (36 + 24) (36 — 24)
=60x12=720
BOL{4) 7 = 32 x 15— 1850 + 37

1
= 480 - 1850 x ETd
= 480 — 50 = 430
2 36

B13) 7= IIEHE




B2.(4) 7 = 10B7.05 + 187.005 +
£7.005 = 1361.06

83.(1) J7+187 2280
= J7 =220 187,
= J7 =33=7=33 = 1089

54.2)7 = Tx2 +18
6
27%8
"Ex18
66.(3)

B0% of 135+ 7 % of 750 = 228
Bl}xlaﬁ+?pc?50
=* oo 100
Tolh=x7?
L0
To0w ¥
100
120 = 100
~7m0 - 1#©
B6(5)? =632+ 8+ 112

=228

= 108 + = 228

=228 - 108

632
=& + 121 =79+ 121 = 200

7 1.2
67.{2) 7 of 5 of gof =12

12x8x3 =7
= T= T =144
B8.(4) T = 10101.001 + 1001.01 +
101.1 = 11203111

BO.(1) 72310+ 14+ 5

o 2310

14 x5
TO.(5) =108 = 15= 30
- l!—.li:;lﬁ =99

=33

T1.{1) The given series is based

Henca, 62 will replace the ques-
ticari Fridrk.

T3.(4) The given aeres is based
on the following pattem :

15 B 1Z 30 105

L4

W05 xbB w35 w36 k45

Hence, 472.5 will replace the ques-
tion mark.

T4.(2) Tha given serias is based
on the following pattern

3 7 18 55 183 [487]

w2 w2 wh-d Wil =52

Henca, 487 will replace the ques-
fion mark. 5

75.(5) The given serles is based

on the following pattern
11 16 23 33 43
LM+
L 11 »13

Hence, 56 will replace the ques-
tich mark.

T6.(2) Let the first and segond
numbers be x and y respactively.

As par given infarmation,

T7.(4) When a train crosses a sig-

-~ B alone can complate the work
in 12 days.
T
]-ri]

&
79.45) Amourt = =

10
= IBDOC{I +ﬁ]

Lixiixll
10 10=10
= Rs. 23058
& G 1. = As. (23958 — 18000)
= Rs. 5058
80.(2) Discount = &% of printed
price
8 20000
= _lﬂﬂ =Hs. 1800
». B.P. = As.(20000 — 1600}
= As. 18400
Gain % = 25
. Cioat price

=Ha. [Exlm]

= 18000 =

125
= Ra, 14720
81.(1) Let the mr'rberuf umdamu
im organisation X ba 5x and that in
organisation ¥ be Bx
Mew number of studenls in
organisation X
= % x 5x=08x
Mew numboer of sludents in
erganisation Y
110 8x
100
-~ Required ratho = 6x: 8.8x
=60:88
=15:22 _
B2.(3) Lat the original number be
10x+ y.

Mumber obtained by intercha
: 18 ¥ -
on the following pmm.m : ; [Eﬂx?] ing the P
2 5 11 23 47 s 100+ - 10y —x=18
MM -g = 72 kmph = Gx=9y=18
# 6 #1224 448 : 1 = X—y=2 - e blF
Ll # a[_» 78.1) (A + BY's 1 day's work = = Again, x+ y=6 o il
¥ oo a2 From equations (7 and (i),
Hence, 95 will replace the ques- i ) x=dand y=2
ficir ek, A% defl ok = 8 . Onginal number
72.(3) The given series |s-based £ 11 =104 4 2w 42
on the lollowing pattem : ! E'ulmm:z = . B3.(5) Let Samar's monthly salary
2 As x °
e Boomoal g Sg-2 1 According to the question;
P R e L—-Jm T 12 1—[521-23&%0!#’-45“
are providing piece of information Hdust for reference. It may v from Official




1]

= X = T5% of x = 4500
= 25% of x = 4500

» Son's preaant age = 7 years

95.(5) Let the' number be x.

: : 49 7 -w
4500 %100 s e ”'ﬁﬁ”*m
= ¥m ———— =Hs. 18000
: 25 = (72 =d40 % 25 336100
84.(5) 55% of iotal students = 44 s = Em
= Total number of students :;{2_} L.:IBI;EE :-?:-:5_::5 i
LAax1on o from three sales X, Y and Z be 5x, 8x 2 “ﬂ'*“ﬁ"iﬂ"m_
‘N55 ks and 7 tons respectively. 96.{4) Let the cost of a wrist watch
"Mmarﬁﬁ' 8 Mow, 8x — 5x = 1350 ba Rs. 5 and that of a calculalor be
=80=d4= ; = 3x= 1350 Rs. y.
B5.(4) Required average marks i Ageording o the question,
i 45 =75+ 40= 7B =3 X= 5 = Tx + 5y =3650 -
45+ 40 ) I and, x=y =110
. Tatal production = xm 110+ : e
L 3a75+3120 =5x+8x+7x Putting the value of x is
a5 = 20x equation (i},
G408 = 20 x 450 = 2000 tons. T{110 + ) + Sy = 3650
== 7641 81.{4) Lel the original fraction = 770 + Ty + 5y = 3850
. ’ 12y = 3650 - 770
#6.(1) Purchasing price of arlicles | x g
= Fis. (245 x 30) be y - B
= Rs. 7380
Total cost 1311:__3 - = 1z = 240
= Fis. (7350 + 980 + 1470) Now, To0 ~ 3 ». Cost of & calculator = Rs, 240
= Rs. 5800 u §7.(1) Let the length and breadth
be 4x and 3x metres respectivaly.
_._c_prm:E e 2 L 2dx+3x =21
=% 3 .
=Ra. 40 . = 14x=21 = x=——=15
5.P. = Ra. 50 per piece ¥ 285 K 14
o ----:—NE=E = Langth = 6m and
- Gain% = — x 100 =25 u ; breadth = 4.5
40 82.(1) 5 students can be seated AT 2
87.(3) When differance between | on 5 seats in 5! ways
the compound intorest and simple e =5xdxdxixi=120 1 i
terest on & cenain sum of money for 2 93.(2) 2x - 3p=1 it . I~
yaars at % rale is As. x, then the sum x4 =18 e () —
is given by @ Muttiplying equation {i) by 2 and Clearly, number of poles = 14
10012 (i by 2 and subtracting (@) from (7, 88.(2) Let the radius of circle be r
Bum:-»r[T] fix— By = 3 L
; fixs 2y = 86 <. 2nr=88
b3 T3
00 25 ¥ BE=T
=12ﬂ[ ] FTH[?J = =13 =-.~r=2x22=14ﬂ'l!!.
: From equation (1), 22
nlzﬂrﬂﬁxzﬁ = Ais. 2000 Ix-3Ax3=1 :;F-—-—kl-h-:n
_IKE_ = I¥=10=x=5 616 om?
Hi‘“ L“.Iha pmﬂﬂt ages of fa- -x-—’l'_=5—3=2 &{E}Ex_‘_a}q_z_.zs m_
ther and son be Sx and x years respec- 94.(3) Net oflect on area iy = Yk
to the question, R Xb =2 we (1)
According q B, [.r+y+1m}i_ From equations (#) and (i),
Bx+7 3 X Z4+Z=14=7=7
x+7 1 Here x = 40, y = —20 (decrease) - From equation (i), y=7-x
= 5x+7 =3+ - Metaffect = From equation (i),
- 2xm 14 4020 2x+ HT-X+Ta 25
4 [40—@— 106 = 24+ 21— 3.I¢+7=E
=X=E=T = 2B—-x=25
= 12% increase ==}
L
are providing piece of information djust for reference. It may wvary from Official
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100.{3) Numbey of stedenls who
can apeak ;
. 4% B0
Only En =
Iy English — e 24

| 25 x 60
Only Hindi - e

Both languages

=60-24-15=21

© . Mumber of students who can

speak English = 15 + 24 = 36

136.{3) Alphabetical order of
words :

{2}  Miniature

il

15

(4) Minmmalist
+

(5) Miniscule
i .

{3) Minicterial
m

(1) Minority ;

137.(2) Alphabetical order of
words : -
{3) Carbahydrata

L

{1} falhvli':

{5) Carbonate
4

(2) Carboniss
L

(4) Carburation

138.(5) Alphabatical order ol
words ;

i2) Franchise

{3} Frantic
4

(1) Fratemity
1

{5) Fraudulant
1

(4] Fraught
13%.(1) Alphabetical order of
words :
(3} Predictor
4
{4) Predispose
+

{2} Prafabricale
4
{1} Praferantial
1
{5} Preformative
140.{4) Alphabetical order of

words :
{3) Transition
i

(2] - Translate
4

(5} Transmit
i

{4) Transplant
1

(1) Transport

D
141.(3) L

b -}
— & = T
= s

e

o= T
2= e

=] 4=
A &=
& - R

143,45 1
g 1

[T

—
=] &
o= T

o -
[CRFe

. R
144.01) 1
2

—
= =
£
-
- =
-

Y
L
=

145.4) K H D P
11 S E
6 5 21 4

156.(3) The word “intange’ means
vary strong. Oul of the given answer
chobces the word foeble’ means weak,
faint. Hence, the words intense and
feeble are anlonymous.

15T.[(4) The words success and
failure are antonymous.

158.(1) In the passage, the word
‘conflict’ means a serious disagree-
miant. Out of the given answer cholces,
the word ‘conformily’ means behaviour
alc. that conforms to establiahed rules,
customs efc. Hence, the words confich
and confarmity are antonymaous.

158.(3) In the passage the word
support (Verb) means to help some-
body/something by one's approval. Out
of tha answer choicas, the word oppose
{Verb} means to express sirong disap-
proval of or disagreement with some-
thing'somebody with the aim of pre-
wventing or changing a course of action.
Henca, tha words supported and op-
posed are antonymous,

160.{3) The words promation and
demotion are antomymous.

161.12) In the passage, the word
precanious (Adjective) means nol sale,
uncartain. Out of the answer chaoices,

R
1

m o
o

Ihe word 'sacured’ means prolacted,
safe, Henca, the words precarious and
secured are anlomymous.

163.(3) The word devastating (Ad-
joctive) meang causing greal destruc-
tion. Its antonym will be refreshing.

1€4.(5} In the passage the word
“rivial’ means of little importance, con-
cemed with unimportant things. Cut of
the given anawer chokces the word
momentous [Adjediive) means very im-
porfant serious, Hence, the words
trivial and momenious are
antomymous.

165.(3) The word ‘harsh’ {Adjec-
tive) means sevre. The word 'mild"
means nol severe, Hence, the words
harsh and mild are antonymous.

176.(1) The comact spelling is pro-
fossion.

178.{1) The corract spelling is
ralchstick.

179, (4) The correct spealling is ex-
plode.

180.(2) The correcl spalling is

181.(2) The comect spalling is pa-

frel,
183.(3) The comect spefing 1s com-

IMESSIoner.

184.{1) The comect spelling is wel-
come.

185.(3) The comect spelling is ad-
ministration,

" 191.{1) The error lies in part (1) of
the sentence. *| have criticize’ should
be replaced with 'l did not cribcize'. it
will make the senience meaningful.

192.(2) The word "write’ is in
Prasent Indefinite tensa. i should be
replaced with “has writlen' as Present
Perfect is used io exprass posi action
whaosa time is not given and not defi-
nile.

184.(1) The word responsibilifies
is a plural subject. K will take plural verb.

197.(2) The word care is singular
and It will take singular verb. Hemce,
‘care have been taken' should be re-
placed with ‘care has been taken'.

200.(3) The phrase ‘borme oul of,
should be replaced with 'bom o 'which
means comeng from the specified type
of parents, background, orgin ete. For
example,

Her socialist beliefs were bom of
a hatred of injustica.

are providing piece of

information
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TEST-1 : REASONING

1. In a certain coda, "ROAMING” is
writtan as"APRNGO!'. How would 'PLA-
TEAL be written in the same coda 7

"(1) AMPTUBE  (2) PMALEBU

(3) ALPUUAE  (4) AMPULUBE

(5) Mone of thase

2. Four of the following five are
alike in a certain way and so form &
group, Which is the one thal does not
belong o thal group 7

(1) Horsa (2) Donkey
(3) Cow (4) Goat
{5) Dag

3. How many meaningful English
words can be formed with tha latters gl
the word “STOP' each using only once
In a word bt in differenl sequence,
starting with the latter P 7

{1} Nane i2) Two
© {3) Ona (4) Throa
{5) Maore than three

P

8. Fointiog to Raju, Ayesha says
“Hea is the son of my mother's brother's
wila". How Is Ayesha related 1o Raju 7

(1) Sigter (2) Miece

{3) Cousin Sister

(4) Data inadequate

(5) None of these

9, Tom walked 10 milea from Point
P towards the East. He then took right
turm and walked 5 miles and taking an-
other right tum walked again for an-
other 5 miles. In which direction is Point
P from where Tom is standing now 7

(1) West {2) North-West

(3) Morth-East

(4) Cannot be determined

{5) Mone of these

" 10. Four of the following five ara a
alike in a certain way and so form a
group. Which is the ona that doas not
belong 1o that group 7

(1) 21 (2] 51

(3) 63 (4) 15

4. "Mother is related to ‘Oftspring”
in the same way as Tres' is related to —
(1) Sapling {2) Fruit
[2) Roat {4) Stem
(5) Mona of these
5. In a certain code, "SPRING' is
writhen as ‘#2% @ 4="and "GONE" is wril-
ten as =T4&', How would SIGN ba writ-
ten in the same code 7

(1) #@d= (2} 2@=4
(3) e@=4 (4) #%=d
(5) None of thesa

6. Four of the following five are
alike in a certain way and so form a

group. Which is the one that does not
bedong to that group 7

(1) June (2) Year
{3) Week (4) Manth
(5) Day

7. '‘Date’ is related to ‘Cabendar' in
the sama way as Time' is related to —

{1) Day {2) Hour
(3) Sun (4) Clock
(5) None of thesa

{s)23

11. ' 'green' is called ‘white’, ‘white’
is called ‘yellow’, ‘yellow’ is caled hiue’,
‘blue’ is called ‘pink’ and 'pink’ is called
‘black’, then what is the colour of milk?

(1) grean (2} blue

(3 pink {4} yollow

{5) None of these

12, How many such pairs ol latters
ara thara i the word CONTROL each
of which has as many lelters batwean
tham in the word as in the English al-
phabat ?

{1} MNane (2) Ona

(3) Two (4) Three

{5) More than three

13. In a group of s children T, K, V,
O, M and W, T is fatter than M bul not as
lat as W. K is not the fattest nor is W
whereas V is the thinnesl. Who is the
fattast tham all ?

{1}0 2T

(3™

(4) Daia inadequate

{5) Nona of these

14. In a certain code language,
‘TEMPORARY® is written as
‘SFLOOGBOZE . How would WONDER-
FUL® be written in the same code 7

(1) VPMEFQGTM

(2) VPMEESGTM

{3) XPMEEQGTM

(4) VFMEESEVK

{5) None of these

18, Teacher is relaled io 'shedents’
in the same way as ‘Coach’ s related
o

{1) Team (2) Playar

(3) Sports (4) Play

(5) None of these

Directions {16-20) : Study the fol-
lowing arrangement of letter—number-
symbol and answer the questions ghvan
below :

KIAAVTR = TEME4AWS @JN9
PUCH Z50DI0GeLY

16. How many such numbars ana
there in the above arangemeant aach

of which |z precedad by symbol and

immadiataly followed by a Voweal 7
(1) Nona _. (2} One
{3) Two {4) Three

(5) More than three

17. In the above armangemant what
should come in the place ol the ques-
tion-mark (7) in the following seres 7

AKV Ta= TRM EBW 7

{1)swe (2) S4J
{3)54@ {4) @WH
{5) None of these

18. How many such Consonants
are there in tha above arrangement,
each of which is preceded by symbal
and immediatety followed by a num-
ber ?

{1) One {2) Two

(3) Threa 14) Nome

{5) None of these

18. In the above arangement if the
first twenty elemeants are written in the
reverse ordar then what Is the Shdh al-
ement 1o the left of eighteenth aelement
from the left 7
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(ne @)=

/7 4 E

(5) Mone of these

20. Four of tha five are
alika In'a cerwin way basad on thelr
positions in the above arrangement
and form & group. Which is the one

that does not balong to that group 7
(1) CP@ 2) W
{3) TRB {4) 100
{5) A3V

Directions (21-25) : In each of the
guestions balow are given thres state-
ments followed by two Conclusions
numbared | and (1. You have ta take the
given slatements to be true evan i they
s68m 1o ba at variance from commonly
known facts. Faad all the Conclusions
and then decide which of the given
conclusions logically follows from the
given statemenis disregarding com-
monly known facts.

Give answer (1) if only Conclusion
| follows

Give answer (2) if only Conclusion
Il follws: :

Ghve answer (3) if efther Conclu-
gion 1 or |l follows

Give answer (4) i neither Conclu-

sion | nor || follows
Give answer (5) il both Gonclu-
slons | and |l follow
21. Statements
Somea buses are bella.
Some bells are horses,
All traine are horses.
Conclusions
L Some buses arg horses.
. Some traing are balls.
22. Statements
All goats are kites.
All rosas are goals.
Somo kites are beas.
Conclusions
- L Some kilea are roses.
Il. Some goats are booes.
23. Statements:
All classas are lions.
Somea birds are classes.
All pens ame lions.
Conclusions
I. Mo pen is bird.
Il. Some birds are pensg,,
24, Statements
Soma candles are papers.
All papera are troag.
Some books are papers.

Conclusions

L Some books ane candes.

ll. Some trees arg books.

25. Sistements

All bats are elephants,

Some baloons are crows.

All erows: ara bats. .

Conclusions

. Some baloons are elephants.

ll. Some slephants are crows.

Directlons (28-30) : Study the fol-
lowing information carefully and an-
swaer the quastions given below :

The digita from O to 8 are coded as
shown below with the exceptions that
fiotlow :

oigat|o | 7
Code| R] 1

Exceptions 1 : If number bagins
and ends with an odd degit (ron-zerg),
then both the lirst and kst digils ars
be coded as §. :

2. Ifa number begins and anda with
an even digit {including 2eno), then bath
the first and last diglts are to be coded
asf.

26. What will be the code for

A1 4]6|8|5(B|2
MIPIB |DIHA (TN

ANaHEE T
{1} MPBOHA  (2) MPBTND
(3) MPBTHA  (4) SPETNS
{5) Mone of these

27. 'RATHINT represants which of
the following numbara 7

(1)096873  (2) 050673
(3)058871  (4) 059873
(5) None of these

28. What will be tha code for
4521738 7

(1) BANPIMD (2} BANFIRD

(3) #ANPIME (4] HBAMPIS

{6) Mone of these

29, What will be the code for
348057 7

(1) SBHAIA  (2) MBHARI
(3) SMBHRS (4) SBHRAIS
{5) Mone of these

30. Which of tho following nium-
bers can represent ‘FAMPTE 7

([} 453188 (i) 753168

(i) 653192 a4

{1) Only (i} or (i}

{2) Ondy {jii)

{3) Only (&) or {jii)

{4) Only (i) or (i)

{5} Mone of these

Directions (31-35) : Study the fol-
lowing information carefully and an-
swar lhe quastions given below :

Eeven Inends A, M, K, P, LW and
B live in three different buildings, i.e.,
X, ¥ and Z. Mol less than bwo of maore
than thres fve in any of the buildings.
Each of them has a Wdng for different
fruite among appla, jackfruil, watar-
malon, orange, grapes, pineapple and
mango. not necessarily in that onder.
Threa amaong tham are girls, one aach
every buliding. W likes orange and
slays in building ¥ alongwith only B M
ives in building £ and likes jackfruit.
Mone in building X likes apple or
grapes. R and L don't stay in X build-
ing. K in R's closa friend and she does
not Bka watermelon. L likes pineapple.
Mome of the.gifls likes orange and ona
of them likes apple. R does nol like
grapes.

31. Who lkes mango 7

(1B 2P

(3K

(4} Data inadequate

{5) None of these

32. Who stay in building Z 7

{1)M, R 2V K, B, M
(3 M R B (4) M, K, R

(5) Mone of these

33, Which frult does R like 7

(1) Appla (2) Watermalon

{3) Mango

{4} Pineappla

(5) Mone of these

34. Who are the three girls amaong
the friends 7

(1K RW

(K, M P

i4) Data Inadequate

{5) None of thass

35. Which frult does B like 7

1) Mango (2} Grapas

{3) Apple (4} Watermalon

{5) None of thase

Directions (36 — 50) : In each of
the questions given below which one
of the live answer ligures on the rght
should come afler the problem ligures
on the lell, if the sequence were con-
tinuad 7
36. Problem Figures
L L7 L

2R KF

=
O

oo
M

o

ox

o




. Answer Figures 42, Probiem Flulm'ﬁ Answer Figures
Ky w IF [ :
EHENENENIE: ﬁ-E}S'“*‘ xﬂ‘l SIERHHEE
PR XRTAE AE ALY | I ) s e
. Problem Figures E o) = . Pl
Ofa &0 & =] i+ -* Eu ﬂu .+
e o o ool T
[TIE HBo o b 0
g & {:!&P 2 Hm W & (e |5 o e -
R Answer Figures
2l e el =
A Flgures 0 B+ ¢|H Uil W | &
ity @2 13 {4} )
0 i T i T 49. Problem Figures
m @ @ @ = |[=8 [sTe 5(1;" el g
44, Problem Figures ) 2 amlams
XXX XX o= 2] s
m & & W = t u[= T;_ o= oz «©
—— & 1l= = [ =
39. Problem Figures i F. s cldSxigigjedaNielm
E 1 3 4] I
T S g g_|f:||ﬂll.;f|5_|“lp_-'|r_rf| ‘;”zbm“ i R
B = o T ol Bl Rl Figures
M @ @ s
Angeme Figiese 45. Problem Figures 113 £ @ §
= =] — | =
‘- u "' A a %!E d % lE -i Answer Figures
Clcic g ‘:J «  |xEC|mde "
W@ @ W @ |
40, Problem Figures
: v T fa FY' L =EY FAFL fal
@G@\OJ@ =]o | T |a]s I R
m @ @ 4
ks 46. Problem Figures TEST-II :
NUMERICAL ABILITY
= @J@@@ ff | Bt | OO | €0 | B Directions (51-70) : What will
m 2 %) [T 5 come in place of the question mark (?)
41. Problem Figures Answer Figures in the following eguations 7
: oo 51, 3785 + 7 — 4297 = 5523
- B3 | 0| KO | | KA {1} 6125 {2) 6035
i}\ .{5\ ﬁ ;}* (3) 6025 (4) 6135
A Bloeas n @ L] [4) (=) {5} None of thase
padiic ; 47. Problem Figures 52. 11.02x8+15x06="7
i S —; {1)89.08 (2) 89.60
—{& 55" 55’ .b’ 4& «» E . ’.mei & (3) 89.96 (4) 89.26
L c |3 * «* (5) Nona of these
are providing piece of information Hdust £
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B83. 5 +187 =220

Ta.3 71955 183 7%

5. &8 7
53. © of Zol 5 of 1380=7 (1) 1088 (2).620 . {;j :3‘; Ii} :::
{1)378 (2] 376 (3} 23 (4) 33 ES: e (4)
(3) 368 {4) 386 15} Nane of these 75.11 16 23 32 43 ?
(5) Mona of these 27x2+18 (1) 55 (2) 57
54, TS% of SB0 + 58% of 750 =7 H'T_' {3) &8 (4) 59
{1) 840 (2} B0 {1)3 (22 (5) None of these
{3) 620 (4} T80 0 6. 40% of the number is equal 10
{5) None of thasa {3) 3 {4)3 three-fourth of the ancther number.
s What is the ratio between first number
B5. 36 x 45 + 7 = 1700 (5) Mona of these and second number 7
1) 640 {2} 360 B5. B0% of 135 + 7% of 750 = 228 (1)15: 16 (2)15:8
{3) 80 (4) 8400 (1)2s (2) 20 {318:15 {4)B-17
{5} Norie of thesa () 15 (4)24 {5} Mane of these
56.12¢ 4 16=7 {5} Nonb of thess 77. A 350 metre long train crosses
(1}180 (2) 160 66.632 + B4+ 118=7 a signal post in 18 seeonds. What is
{1) 180 (2) 185 Ihe speed of the train in km per hour 7
(3 240 (4) 156 {2) 191 (4) 188 {1} 78 {2) B0
(5} None of ﬂm.ﬂ {5) None of theas (3 64 (4) 72
3.4l a2 _ 7 .1 _ 2 {5) Nane of these
57. 25 +4——-2Z =9 r 1 .2
Bg s E?.?Qfﬂﬂd'aaf?z‘iz 78. A and B together can do a
1 a {1) 108 (2) 144 pb.bﬂﬂfmfﬂ.-ﬂm If A aloné can
{5} None of thase alone complete the same piece of
a9 a work 7
= = 68. 10101.001 1001.01
3 43 () 43 e ¥ * (1) 12 (28
(5) None of these (112120011 (2) 11111111 (@9 4} 18
58, 1075 % 105 4 107 = 107 {3)12202.101  {4) 11203.111 (5) None of these _
385 @) 8.5 £9. 2310 2 14+ 5=7 accrued by Ravindra on an amount of
- 1)33 2) 825 Ra. 18000 at the rate of 10 p.cp.a. at
(5) None of these {4 : the end of three years ?
50,362 - 2477 HEE L (1) Rs. 23498
(1) B40 (2) 64D 20,196 % 15 + 30=7 {2) Rs. 23400
(3 720 (4) 960 .{1393 (2} 18 {3) Rs, 23058
{5) None of these (3)96 4 a3 (4) Rs. 23500
(1) 295 (2) 326 Dirsctions (71-75) : What should | 8% *r:m' PR LY -
(3) 410 (4) 430 coma In place of the question mark (2} | °". 'w; b ke ot print price an
in the follawing number saras ?- gasna 25%. If prnt price was Ra. 20000
(5) None of thase YLo E {185 47 7 then, what was the cost prica 7
1228 g mt*as (2 93 () Fie. 1 ). Jei
B o _ (3)98 () 54 {3) Rs. 14800  (4) 13720
(1)16 (2) 18 (5) None of thesa {B)Nana of thees
(a4 47 72.7812 21 37 7 81. The ratic of number of students
5) None of these (1)64 (2) 63 Ykl Schriaion i aaepet-in X s
{3) None ¥ was 5 : 8. Il 20% of students excesd
62.1087.05 + 187.005 + B7.005 =7 (3) 62 (4 81 in organisation X and 10% of studenls
(1) 1361.066 (5} None of thesa excead in organisation Y, then new ra-
(2) 1361.556 T3.16 B 12 30 105 7 tio of students s
{3) 1361.055 (1) 387 5 (2) 4705 (141522 2)15: 16
{4) 1381.06 {3) :Em.,;ﬂ., (4} 4726 (3)5:4 4)5:7
{5) None of these 3 Hon- ok ity {5) None of these
are providing piece of information djust for reference. It may wvary from Official
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B2. The numbear obtained by inter-
changing the digits of a two digit num-
her is 1egs than the original numbaor by
18. If sum of the digits ks &, what was
the arginal two digil numbar?

1) 51 (2) 24

(3) 42 {4) 15

{5) Nono of these

83. Samar spends 52% of his
manthly salary on household  expen-
diture and 23% on miscellaneous ex-
penditure. If ha is left with Rs. 4500, what
i3 his monthly salary 7

{1} As. 16000

{2) Rs. 17500

{3) Rs. 17000

{4) Rs. 18500

{5) None of thase :

84, Numbser of girls In a class s 44
which i 55% of the total number of stu-
dents. How many boys ane thans In the
clasa 7

(1) 75 (2) 78
[3) 84 (4) a2
(5) Nong of thosa

85. Average marks obtained in
History by 45 studenis In "A" division

Ak TH anl tha aenrana mark s abiainsd
by 40 stwedants in ‘B’ division ara 78,

What are the overall average marks
obtained in History by the students in
both the divisions (roundad off to two
digils after decimal) 7

1) 76.81 27

(3) 7741 (4) T8.41

{5) Mone of thesa

86. A shopkeeper purchased 245
pieces of an article at Rs. 30 per pieca.
He spent Fs. 980 on transport and As.
1470 on packing the articles. He sokd
Ihe anticles at the rate of Fs, 50% per
piece. Whalt is the per cent prolil
earmad?

(1)25 {2) 20
(3) 28 (4} 225
{5) Mane of these

87, Difference between the com-
pound interest and simple interest ac-
crued in two years al 8 p.c.p.a. is
As. ¥28. What is the principal amount?

{1} Rs. 18000

(2} As. 16000

(3) Rs. 20000

{4} Cannol be determined

{5) Mone of these

ANPAEE I oot r P b oo e

88. Present ages of father and tha
S0n arg in the ratio of 5 © 1 respectively.
Seven years hence thiz ratio bacomes
3 . 1. What is son's present age in
yaarsT

{118 2) 8
(3)6 w7
{5} Mona of these

B89, What will come in place of both
the question marks (7) in the following
aquation 7

A E

T 25
(145 (2) 42
(3) 32 (4) 37

(5} None of these

B80. Production of wheat in 2004
from three states X, Y and Z was in the
ratlo of 5 : 8 : 7 raspectively. If produc-
tion of stale 'Y is more than that of state
‘%' by 1350 tons, whal was the tolal
production of the three states in tons ?

(1) BS0O {2} 5000

(3) 8200

{4} Cannct be delermined

{5) None of these

G1 H tha msmaralae Al a fraclinm io
increased by 20% and the denomina-
tor iz not changed, the resultant frac-

tiom thus eblained is %.Whnlmlmv
oniginal fraction 7

(1 (2)

o ol
wlem m|en

2 (4

{5} Mone of thasa

92, 5 students are to be seated on
5 seats. In how many diffarant ways can
they be seated 7

{1) 120 {2} 20
{3) 60 {4) 72
(5) None of these

93 f2x—3y=1and 3x+ y= 18
than whal is the value of x- y 7

(-2 (2)2
3)-3 (4)3
(5) None of these

84, I the length of a rectangle is
increased by 40% and the breadth is
reduced by 20%, what will be the affact
on ils area 7

{1} Increasa by 8%

{2} Increase by 20%

{3) Incraasa by 12%

{4} Incraasa by 16%

(5) None of thase

85. 40% of 70% of a number is 136.
‘What Is one-third of thal number 7

(1) 475 (2} 480

(3) 420 (4} 450

(5) None of these

96. Cost of 5 calculators and 7 wrisl
watches is Ais. 3650, If the cost of a wrist
walch is more than the cost of a calcu-
lalor by Rg. 110, what is the cost of a
calculator 7

(1) Rs. 320

(2) Rs. 250

(3) As. 350

(4) Rs. 240

¢ [8) None of these

97. Poles are to be created along
the boundary of a rectangular fiebd in
such & way that distance betwean any
wo adjacent polas is 1.5 melres. The
perimeter of the field is 21 melres and
length and the breadth are in the ratio

of 4 © 3 respectivaly. How many poles
WHII D TEUErS ¢

{1514 (2} 16
@15 (4} 20
{5) Mona ol these

_ 98 What will be Ihe area of a circle

whose perimeter is 88 cma 7

(1) 678 em?

(2) 616 em?

(3) 636 om?

(4) Canncl be determined

{5) Mone of these

99. W 2x+3y+2=25k+y+2=14
and x + y = z. then what is the value of
x7?

(N7 (24
(3)6 (4)5
{5} None: of these

100. In a class of 60 students 40%
can speak only Hindi, 25% can speak
only English and res! of the studants
can speak both the languages. Total
how many students can speak En-
glish 7

(1)32 {2) 28
{3) 36 {4) 15
{B) None of these
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TEST-III - COMPUTER
AWARENESS

101. One advantage of dial-up
Internet access is —

{1} it utilizes broadband technology
12) it utilizes existing telephone
SeCurity

{3) it uses a router for security

{4) modem speeds are very fast

{5) None of these

102. What is backup?

{1} Adding more components o your
network

{2} Protecting data by copying it
from the original source to a different
destination

13} Filtering old data from the new
data

{4} Accessing data on tape

{5) None of these

103. Network components are
connected to the same cable in the
topology.

(1) Srar (2) ring (3) bus

(4) mesh (5) mixed

104. Two or more computers
conpected to each other for sharing
information form a

(1) nerwork (2) router (3) server
{4) tunnel (5)pipeline

105. A computer checks the of
user names and passwords for a
match before granting access.

(1) website {2) network (3) backup
file (4) database (5) None of these

106. Computers that are portable and
convenient for users who travel are
known as —

{1} supercomputers (2) Laptops

{3) minicomputers (4) file servers
{5) None of these

www.recrutt ment.guru
107. What is the term for unsolicited
e-mail?
i 1) newsgroup {2} usenet
i3) backbone (4) laming (5) spam

108. What type of program controls
the various computer parts and
allows the user to interact with the
computer”

i 1) Utility software (2}O0perating
system {3) World processing
software (4) Database program

(5) None of these

109. Each cell in a Microsoft Office
Excel document is referred to by its
cell address, which is the

(1) cell’s column label

(2) cell's column label and worksheet
tab name

(3) cell’s row label

(4} cell's row and column labels

(5) None of these

110. Which of the following is true?
(1) byte is a single digit in a binary
number

(2} bit represents a grouping of
digital numbers

i 3) eight-digit binary number is
called a byte

{4} eight-digit binary number is
called a bit

(5) None of these

111. Office LANSs that are spread
geographically apart on a large scale
can be connected using a corporate

(1)CAN (2)LAN (3) DAN
(4)WAN (5)TAN

112. What is the process of copying
software programs from secondary
storage media to the hard disk

i 1) configuration (2) download

i3) storage (4) upload (5) installation

113. The code for 2 Web page is
wrilten using —

i 1) a fifth generation language

i2) WinZip

{3) Pen

{4) Hypenext Markup Language
{5JURL

114. Small application programs that
run on a Web page and may ensure a
form is completed properly or
provide animation are known as —
(1) flash (2) spiders (3) cookies

{4) applets {5) sparks

115. In a relational database, this is a
data structure that organizes the
information about a single topic into
rows and columns.

{1)block (2) record (3)tuple (4) table
{5) command line interface

116. The first computers were
programmed using —

{1} assembly language

{2) machine language

(3) source code

(4) object code

i5) spaghetti code

117. When the pointer, is positioned
on a . it is shaped like a hand.
i1} grammar error (2) hyperlink (3)

screen tip (4) spelling error

(5) formatting error

118. Which process checks to ensure
the components of the computer are
operating and connected properly?
i1) Booting {2) Processing {3) Saving
{4) Editing (5} None of these

119. How can the user determine
what programs are available on a
computer?

(1) Checking the hard disk properties
{2) Viewing the installed programs
during the booting process

{3) Checking the operating system
for a list of installed pro-

{4) Checking the existing files saved
on the disk

{5) None of these

We are providing piece of information just for reference.

It may vary from Official o
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